

Fermions in finite canonical ensembles: comparison between two formalisms

This article has been downloaded from IOPscience. Please scroll down to see the full text article.

2000 J. Phys. A: Math. Gen. 33 L93

(<http://iopscience.iop.org/0305-4470/33/9/102>)

View [the table of contents for this issue](#), or go to the [journal homepage](#) for more

Download details:

IP Address: 171.66.16.124

The article was downloaded on 02/06/2010 at 08:48

Please note that [terms and conditions apply](#).

LETTER TO THE EDITOR

Fermions in finite canonical ensembles: comparison between two formalisms

Fabrice Philippe

Université Paul Valéry, Route de Mende, 34199 Montpellier Cedex 5, France

and

LIRMM, 161 rue Ada, 34392 Montpellier Cedex 5, France

E-mail: fp@bred.univ-montp3.fr

Received 9 November 1999

Abstract. Occupancies in certain small, electrically insulated, electron systems have been recently calculated. We show that the recursive formula derived from second quantization and the simple expression obtained from combinatorics are identical.

As a consequence of the recent availability of electron traps and the tendency to fabricate smaller and smaller electronic devices, there is a growing interest in the quantum statistics of finite (i.e. small) electron systems. When the system may exchange energy (heat), but not electrons, with a substrate, the celebrated Fermi–Dirac distribution only applies in the large-temperature limit. Otherwise, significant discrepancies occur.

In this paper I restrict myself to evenly spaced one-electron energy levels, $\varepsilon_k = k\varepsilon$, where the energy spacing ε is a constant, $k \in \mathbb{Z}$, and $k = 0$ labels the top electron location at $T = 0$ K. A single-electron spin-state is considered.

An expression for the level occupancy $N_k(q)$ of level k , where $q \equiv \exp(-\varepsilon/k_B T)$ is the Boltzmann factor, was apparently first obtained by Schonhammer and Meden [1] from second quantization of the electron wavefunction. Occupancies are the coefficients of the Laurent series

$$\sum_{k \in \mathbb{Z}} N_k(q) z^k = \left(\sum_{\ell \geq 0} \frac{1}{z^\ell} \right) \frac{F(z) F(\frac{1}{z})}{F(1)^2} \quad (1)$$

where

$$F(z) = \exp \left(\sum_{n \geq 1} \frac{z^n}{n(q^{-n} - 1)} \right). \quad (2)$$

Shortly thereafter, Arnaud and others [2] obtained a much simpler, explicit expression, by direct enumeration of the microstates followed by averaging. Their result reads

$$N_k(q) = \sum_{i \geq 0} (-1)^i q^{(i+1)k + \frac{i(i+1)}{2}}. \quad (3)$$

The purpose of this paper is to show that equations (1) and (3) coincide. The proof involves elementary theorems on q -series. It thus appears that the second-quantization methods are often superfluous. Our direct approach (see [2, 3]) may be greatly generalized, e.g., to arbitrary level

degeneracies, and is capable of solving problems that could be very difficult to solve by other methods.

The first task is to expand $F(z)$ defined in (2) in power series of z . We have

$$F(z) = \exp\left(\sum_{n>0} \frac{(zq)^n}{n} \sum_{i \geq 0} q^{ni}\right) = \exp\left(-\sum_{i \geq 0} \ln(1 - zq^{i+1})\right) = \frac{1}{(zq)_\infty} = \sum_{m \geq 0} \frac{q^m}{(q)_m} z^m \quad (4)$$

where the notations

$$(a)_\infty = \prod_{i \geq 0} (1 - aq^i) \quad \text{and} \quad (a)_m = \frac{(a)_\infty}{(aq^m)_\infty}$$

have been used. In particular, $F(1) = 1/(q)_\infty$. In the last step in (4), a theorem of Cauchy, recalled in the appendix, has been employed.

Introducing the power series expansion of $F(z)$ into the right-hand side of (2), we obtain

$$\left(\sum_{\ell \geq 0} \frac{1}{z^\ell}\right) \frac{F(z)F(\frac{1}{z})}{F(1)^2} = (q)_\infty^2 \sum_{\ell \geq 0} \sum_{m \geq 0} \sum_{n \geq 0} \frac{q^{m+n} z^{m-n-\ell}}{(q)_m (q)_n}. \quad (5)$$

Observe that the index m in the above sum may run from any negative integer, because $1/(q)_m$ vanishes for negative m . Collecting terms of power z^k in the right-hand side of (5), the occupancy of level k reads

$$N_k(q) = (q)_\infty^2 \sum_{\ell \geq 0} \sum_{n \geq 0} \frac{q^{2n+\ell+k}}{(q)_{n+\ell+k} (q)_n}.$$

A formula of Heine, also recalled in the appendix, enables us to simplify the above expression to

$$N_k(q) = \sum_{i \geq 0} (-1)^i q^{(i+1)k + \frac{i(i+1)}{2}}$$

which is equation (3).

Appendix

The two formulae employed in the main text, namely in equations (4) and (5), are special forms of the two following identities, which are due to Cauchy and Heine, respectively. Proofs can be found, e.g., in [4] (theorem 2.1 and corollary 2.3). For $|q| < 1$, $|t| < 1$, and $|b| < 1$,

$$\sum_{n \geq 0} \frac{(a)_n}{(q)_n} t^n = \frac{(at)_\infty}{(t)_\infty}$$

and

$$\sum_{n \geq 0} \frac{(a)_n (b)_n}{(q)_n (c)_n} t^n = \frac{(b)_\infty (at)_\infty}{(c)_\infty (t)_\infty} \sum_{n \geq 0} \frac{(c/b)_n (t)_n}{(q)_n (at)_n} b^n.$$

Letting $a = 0$ and $b \rightarrow 0$ in Heine's formula, we obtain

$$\sum_{n \geq 0} \frac{t^n}{(q)_n (c)_n} = \frac{1}{(c)_\infty (t)_\infty} \sum_{n \geq 0} (-1)^n \frac{(t)_n}{(q)_n} q^{\binom{n}{2}} c^n.$$

Therefore,

$$\begin{aligned} \sum_{n \geq 0} \frac{q^{2n}}{(q)_n (q^{\ell+k+1})_n} &= \frac{1}{(q^{\ell+k+1})_\infty (q^2)_\infty} \sum_{n \geq 0} (-1)^n \frac{(q^2)_n}{(q)_n} q^{\frac{n(n-1)}{2} + n(\ell+k+1)} \\ &= \frac{(q)^{\ell+k}}{(q)_\infty^2} \sum_{n \geq 0} (-1)^n (1 - q^{n+1}) q^{\frac{n(n+1)}{2} + n(\ell+k)}. \end{aligned}$$

Finally,

$$N_k(q) = (q)_\infty^2 \sum_{\ell \geq 0} \frac{q^{\ell+k}}{(q)^{\ell+k}} \sum_{n \geq 0} \frac{q^{2n}}{(q)_n (q^{\ell+k+1})_n} = \sum_{n \geq 0} (-1)^n q^{\frac{n(n+1)}{2} + (n+1)k}.$$

References

- [1] Schonhammer K and Meden V 1996 *Am. J. Phys.* **64** 1168
- [2] Arnaud J, Boé J-M, Chusseau L and Philippe F 1999 *Am. J. Phys.* **67** 215
- [3] Boé J-M and Philippe F 2000 *J. Combinatorial Theory A* at press
- [4] Andrews G E 1976 *The Theory of Partitions in Encyclopedia of Mathematics and its Applications* ed G C Rota (Reading, MA: Addison-Wesley)